



TENDER NO. 6713

FOR: Supply of Precast Prestressed Concrete Girders And Precast

Concrete Panels

TABULATION OF TENDERS

ROAD NO.:

LOCATION: Various Bridges in SW Manitoba

1298-10

BRIDGE SITE NO.: 1350, 0256, 1375 &

LENGTH:

SUMMARY OF PRICES

| CONTRACTOR | SECTION 1 | SECTION 2 | SECTION 3 | SECTION 4 | BID TOTAL |
|--------------------------------|------------|------------|------------|------------|--------------|
| Armtec LP | 226,282.80 | 160,260.40 | 147,924.40 | 147,924.40 | 682,392.00 |
| Haywood Concrete Products Ltd. | 228,976.60 | 163,253.00 | 163,253.00 | 163,253.00 | 718,735.60 |
| Rapid Span Precast Ltd. | 339,250.00 | 217,584.00 | 217,584.00 | 217,584.00 | 992,002.00 |
| Lafarge Canada Inc. | 333,069.00 | 242,197.00 | 242,197.00 | 242,197.00 | 1,059,660.00 |



TABULATION OF TENDERS

TENDER NO. 6713

FOR: Supply of Precast Prestressed Concrete Girders And Precast Concrete

Panels

ROAD NO.:

BRIDGE SITE NO.: 1350, 0256, 1375 & 1298-10

LOCATION: Various Bridges in SW Manitoba

LOCATION: Bridge Site No. 1350-10

LENGTH:

SECTION I: Supply of Precast Prestressed Concrete Girders And Precast

Concrete Panels

ROAD NO.:

LENGTH:

REGION 3

WORK ORDER NO.: F1509516

PROJECT NO.: 6536

| | | | NAME OF BIDDER Armtec LP | | NAME OF BIDDER Haywood Concrete Products Ltd. | | NAME OF BIDDER Rapid Span Precast Ltd. | | NAME OF BIDDER Lafarge Canada Inc. | |
|---|-------------------------|----------|---------------------------|------------|---|------------|--|------------|-------------------------------------|--------------|
| | | | | | | | | | | |
| DESCRIPTION OF WORK | ESTIMATED QUANTITIES | UNIT | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT |
| Supply Precast Prestressed Concrete Girders | 24 | each | 7,576.00 | 181,824.00 | 7,875.00 | 189,000.00 | 11,900.00 | 285,600.00 | 11,000.00 | 264,000.00 |
| Supply of Miscellaneous Material | 1 | lump sum | 0.00 | 0.00 | 1,780.00 | 1,780.00 | 16,600.00 | 16,600.00 | 6,000.00 | 6,000.00 |
| Supply of Precast Panels | 88.2 | m2 | 334.00 | 29,458.80 | 263.00 | 23,196.60 | 250.00 | 22,050.00 | 545.00 | 48,069.00 |
| Contingency (formerly Extra Work) | 1 | \$ | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 |
| | | | | 226,282.80 | | 228,976.60 | | 339,250.00 | | 333,069.00 |
| | BID TOTAL | L | | 682,392.00 | | 718,735.60 | | 992,002.00 | | 1,059,660.00 |



TABULATION OF TENDERS

TENDER NO. 6713

FOR: Supply of Precast Prestressed Concrete Girders And Precast Concrete

Panels

ROAD NO.:

BRIDGE SITE NO.: 1350, 0256, 1375 & 1298-10

LOCATION: Various Bridges in SW Manitoba

LOCATION: Bridge Site No. 0256-10

LENGTH:

SECTION II: Supply of Precast Prestressed Concrete Girders And Precast

Concrete Panels

ROAD NO.:

LENGTH:

REGION 3

WORK ORDER NO.: F1510716

PROJECT NO.: 6549

| | | _ | NAME OF BIDDER | | NAME OF BIDDER Haywood Concrete Products Ltd. | | NAME OF BIDDER Rapid Span Precast Ltd. | | NAME OF BIDDER Lafarge Canada Inc. | |
|---|------------|----------|----------------|------------|---|------------|--|------------|-------------------------------------|--------------|
| | ESTIMATED | | Armtec LP | | | | | | | |
| DESCRIPTION OF WORK | QUANTITIES | | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT |
| Supply Precast Prestressed Concrete Girders | 16 | each | 6,838.00 | 109,408.00 | 7,810.00 | 124,960.00 | 10,500.00 | 168,000.00 | 11,000.00 | 176,000.00 |
| Supply of Miscellaneous Material | 1 | lump sum | 0.00 | 0.00 | 1,210.00 | 1,210.00 | 13,800.00 | 13,800.00 | 4,000.00 | 4,000.00 |
| Supply of Precast Panels | 86.6 | m2 | 414.00 | 35,852.40 | 255.00 | 22,083.00 | 240.00 | 20,784.00 | 545.00 | 47,197.00 |
| Contingency (formerly Extra Work) | 1 | \$ | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 |
| | | | | 160,260.40 | | 163,253.00 | | 217,584.00 | | 242,197.00 |
| | BID TOTAL | | | 682,392.00 | | 718,735.60 | | 992,002.00 | | 1,059,660.00 |



TABULATION OF TENDERS

TENDER NO. 6713

FOR: Supply of Precast Prestressed Concrete Girders And Precast Concrete

Panels

ROAD NO.:

BRIDGE SITE NO.: 1350, 0256, 1375 & 1298-10

LOCATION: Various Bridges in SW Manitoba

LENGTH:

SECTION III: Supply of Precast Prestressed Concrete Girders And Precast

Concrete Panels

ROAD NO.:

LENGTH:

REGION 3

WORK ORDER NO.: F1510016

PROJECT NO.: 6541

NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER Armtec LP **Haywood Concrete Products Ltd.** Rapid Span Precast Ltd. Lafarge Canada Inc. **ESTIMATED** QUANTITIES **DESCRIPTION OF WORK** UNIT **UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT** Supply Precast Prestressed Concrete Girders 16 each 6,500.00 104,000.00 7,810.00 124,960.00 10,500.00 168,000.00 11,000.00 176,000.00 Supply of Miscellaneous Material lump sum 0.00 1,210.00 1,210.00 13,800.00 13,800.00 4,000.00 4,000.00 0.00 Supply of Precast Panels 86.6 m2 334.00 28,924.40 255.00 22,083.00 240.00 20,784.00 545.00 47,197.00 Contingency (formerly Extra Work) \$ 15,000.00 15,000.00 15,000.00 15,000.00 15,000.00 15,000.00 15,000.00 1 15,000.00 147,924.40 163,253.00 217,584.00 242,197.00 **BID TOTAL** 682,392.00 718,735.60 992,002.00 1,059,660.00

LOCATION: Bridge Site No. 1375-10



TENDER NO. 6713

TABULATION OF TENDERS

FOR: Supply of Precast Prestressed Concrete Girders And Precast Concrete

Panels

ROAD NO.:

BRIDGE SITE NO.: 1350, 0256, 1375 & 1298-10

LOCATION: Various Bridges in SW Manitoba

LOCATION: Bridge Site No. 1298-10

LENGTH:

SECTION IV: Supply of Precast Prestressed Concrete Girders And Precast

Concrete Panels

ROAD NO.:

LENGTH:

REGION 3

WORK ORDER NO.: F1513816

PROJECT NO.: 7160

| | | _ | NAME OF BIDDER Armtec LP | | NAME OF BIDDER Haywood Concrete Products Ltd. | | NAME OF BIDDER Rapid Span Precast Ltd. | | NAME OF BIDDER Lafarge Canada Inc. | |
|---|-------------------------|----------|---------------------------|------------|---|------------|---|------------|-------------------------------------|--------------|
| | | | | | | | | | | |
| DESCRIPTION OF WORK | ESTIMATED QUANTITIES | UNIT | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT | UNIT PRICE | AMOUNT |
| Supply Precast Prestressed Concrete Girders | 16 | each | 6,500.00 | 104,000.00 | 7,810.00 | 124,960.00 | 10,500.00 | 168,000.00 | 11,000.00 | 176,000.00 |
| Supply of Miscellaneous Material | 1 | lump sum | 0.00 | 0.00 | 1,210.00 | 1,210.00 | 13,800.00 | 13,800.00 | 4,000.00 | 4,000.00 |
| Supply of Precast Panels | 86.6 | m2 | 334.00 | 28,924.40 | 255.00 | 22,083.00 | 240.00 | 20,784.00 | 545.00 | 47,197.00 |
| Contingency (formerly Extra Work) | 1 | \$ | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 | 15,000.00 |
| | | | | 147,924.40 | | 163,253.00 | | 217,584.00 | | 242,197.00 |
| | BID TOTAL | | | 682,392.00 | | 718,735.60 | | 992,002.00 | | 1,059,660.00 |